Unit 4 Lecture 1 Slide 13


When defining a relation it is necessary to identify a key.  The key serves to differentiate the tuples that currently exist or may exist in an instance of the relation.  It is also possible that there is only one attribute that we could use as the key. In this case, we would have a single element key.  In some other occasions, there may be more than one element from which we can choose the key.  All these elements that could be used as keys are called candidate keys.


Whenever we have a set of candidate keys, we need to realize that there are some conditions that need to be met by any key.  In particular, the number of attributes that make up the key is always a subset of the relation schema.   

In addition, the key should be able to distinguish between any two tuples of the relation.  This is what is expressed by the uniqueness property.  In this slide, the notation t sub one and t sub two refer to any two of a relation.  The notation t sub one, open parenthesis, K, close parenthesis refers to the values of the key for the tuple t sub one.

